kg = dag 5kg 4dag = dag kg - 4dag =

kg =g 3dag 2g =____ g 1dag - 79 =
It = kg 600dag = ____kg_____dag kg - 30g
ldag=_____ g 879 = dag g 1t - 470kg =____ kg
__ dag=1kg 570g =___kg___ g 8dag +___ dag=1lkg
g =1dag 400kg = t kg 2g + g =1ldag
g =1kg 580g = dag g \ 2709 +______ g =1kg
kg =1t 30g = dag 590kg + kg =1t
kg =______ g 5kg 7dag=____ dag kg - 7dag = dag
lkg = dag 6dag 2g = g l1dag - 99 = g
ldag = g9 410dag = ____kg____dag lkg - 75g = g |\
= dag g 1t - 520kg = —kg o
=___kg__ g 3dag +_____ dag = 1kg
=t ___ _Kkg g + g =1dag

180g + g =1kg
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